R EZERAL EREFILES ENRNDE ()9 % 1595% ERHENEE
RIER = 202010402 61 94.4 77.7 =
RIER = 202010403 61 86 73.5

RIER = 202010404 63 82 72.5

PIER=E 202020118 75 96.6 85.8 =
PIERE 202020142 73 938 83.4 2
PIERE 202020141 75 86.6 80.8

PIER=E 202020120 73 85.2 79.1

PIER = 202020132 74 83.8 78.9

PIER=E 202020126 72 85.8 78.9

RRERE 202020202 73 95.6 84.3 bl
RRERE 202020206 63 90.2 76.6

KRR 202020201 68 83.4 75.7

ARB=E 202010216 70 92.8 81.4 2
ARR=E 202010220 67 92.2 79.6 2
ARR=E 202010205 65 91.6 783 2
ARR=E 202010245 67 87.8 774 2
AR = 202010206 62 92.4 77.2 2
ARR=E 202010222 69 85.2 771

ARR=E 202010240 70 83.6 76.8

ARR=E 202010228 63 90.4 76.7

ARR=E 202010214 65 86.2 756

ARR=E 202010202 64 87.2 756

ARR=E 202010215 66 84.4 75.2

ARR=E 202010221 64 86 75

ARR=E 202010204 65 81 73

ARR=E 202010209 64 81.6 72.8

ARR=E 202010226 63 734 68.2

HFERE 202020223 76 80.8 784 2
HFER=E 202020219 69 85.6 77.3




R EZERAL EREFILES ENRNDE ()9 % 1595% ERHEANER
HFR=E 202020216 70 82.4 76.2
HFR=E 202020222 69 82.6 758
A UEPS R 202010252 63 94 785 0
A UEPS R 202010253 57 934 75.2 0
A UEPS R 202010259 62 85.6 73.8
TRAEXRE 202010254 59 87.6 733
TREXRE 202010255 57 88.8 729
FREXRE 202010248 58 87.6 728
TREXRE 202010256 57 86 715
Rz 202020318 85 92.2 88.6 =z
BRgERt= 202020305 81 87.8 84.4 =
EREER = 202020314 72 94 83
ERRERl = 202020321 65 87.8 76.4
BRER = 202020313 62 89.8 75.9
ERRER = 202020309 66 83.6 74.8
EREERIZ= 202020302 62 0 X
EREER = 202020316 62 0 X
A A} 202010328 74 89.2 81.6 2
PR A} 202010322 63 92 775
PR A} 202010320 66 87.8 76.9
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